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There is nothing impossible to they who will
try.
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There are mainly three types in this topic.

1.Word based classification
2.Number based classification
3.Alphabet based classification
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DIRECTIONS -: Select the odd word from the given alternative :----

-

A.Hindi B. Tamil C. punjabi D Urdu — f\'ﬁ

A.Annoy@ﬂﬁress C Harass D. Ravage

’\\
A. Wave B. Current C. Tide = d

A. Room B. Chamber y(eranda D. Cabin
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Wom B. Golf C. Hockey D. Cricket
Q. A. Stem B. Leaf C. Flower D<Root
Q. A. Mumbai B. Chennai C. kolkata [\)/Bﬁnglore

Q. eer B. Sheep C. Cow D. Donkey
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Q. A. Goldsome%ose C. Joyous D. Cheerful
Q. A. Truth B. Non-violence \C/(ate D. Peace

Q. A. Cell B. Atoms C. Tissue D. Organs

Q. A. Germany Ware C. Austria D. Italy
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Q. A. Kelvin B. Celsius\Q/Pa/scal D. Fahrenheit

Q. A. Jaipur B. Jodhpur C. Bikaner \D/chnow

Wrd B. Text C. Index D. Preface

Q. A. India B. China C. Mangolia\l)ﬁada
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Alphabet based classification
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RI31Y 186 )% 2223 24
Q. A.LMN B. RBPQ C. RST D. VWX
_— |8 1920
/
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Q. A. .IGD\B/NfI C. XUR D. QNK
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Q.A.AZ B.LO C.VE D.BN

Q.A.ABC B.CBA C.BCA Ac

QAJQ B.IR CPK DD
v o U
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Directions (1 to 10): In each of the following questions, four numbers are given. Out of
these, three are alike in a certain way but the fourth one is different. Choose the one
which is different from the rest four/three

Q.1. '
A)2 = 2 7 R
B) 32 = £ o

56 R 3L
D) 128
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Q.2.

A)57 B)87 \9;(1 D) 133

13L 3 fwime numbe ¥
/
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Q.3.

A)144 B)169 C)256 D)288

L

My 3 12
169 3 13~ A8 F Fpar

Is6 3 16"
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Q.5.

A)385 B)572 C)671 qﬁn
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Q.6. v *’L
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Q.7.

698

B) 7894
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C) 9865

D) 6958
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Q.8.

\yfés( B)1593 C)9175 D)3781
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Q.9. =>2_ K3 é

A) 325 \BjZ36 C)178 D)639
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Q.10.

\/( 5&0 B)4635 C)5869 D) 7946
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